
KA30 // KA30 // SCROLL ARM WITH DECORATIVE SCROLLSCROLL ARM WITH DECORATIVE SCROLL

DECORATIVE ARM

30"

20"

6'

20"

31 1/2"

9"

6'

1 1/2"

The King Luminaire KA30 Scroll Arm with 
Decorative Scroll is an elegant but simple arm 
with a small decorative scroll embellishment. 
Available in a variety of lengths, in either 
tenon or side mount, and single or double arm 
configurations, the KA30 is an ideal solution 
for any situation.

ARM SPECIFICATIONSARM SPECIFICATIONS

10-16-2023

MOUNTING TYPES:MATERIAL:
Aluminum

MOUNTING TYPE:
Side
Tenon

ARM QUANTITY:
Single
Double

ARM LENGTHS:
4’
5’
6’
8’

FINISH:
Available in textured 
or smooth.

EPA
1.21 - 5.06 sq. ft.

WEIGHT
12 - 54 lbs

Side Mount Details 
4” x 1 3/4” x 12”LVIEW A-A

12" 9"

4"

30"

20"

6'

20"

31 1/2"

9"

6'

1 1/2"

Tenon Mount Details 
TO ACCEPT 2 3/8” DIAMETER  

X 2 3/4”L TENON

30"

20"

6'

20"

31 1/2"

9"

6'

1 1/2"

LEVELING DEVICE:

HOW TO ORDERHOW TO ORDER

KA30

ARM 
STYLE
KA30

# OF ARMS

1  - Single
2 - Double

LENGTH

4 - 4 Feet
5 - 5 Feet
6 - 6 Feet
8 - 8 Feet

*8’ only available 
  in side mount

- -

MOUNTING
TYPE

S - Side
T - Tenon

-

MATERIAL
A  - Aluminum

-A

Run Rise

4’ 16”

5’ 20”

6’ 20”

8’ 27 1/8”

ARM DIMENSIONS:

Catalog 
Number

Mount 
Type

# of 
Arms

L.  
(ft)

EPA  
(sq ft)

Wt. 
(lbs)

KA30-A-S-1-4 Side 1 4 1.21 12

KA30-A-S-1-5 Side 1 5 1.48 14

KA30-A-S-1-6 Side 1 6 1.68 18

KA30-A-S-1-8 Side 1 8 2.53 27

KA30-A-S-2-4 Side 2 4 2.42 24

KA30-A-S-2-5 Side 2 5 2.96 28

KA30-A-S-2-6 Side 2 6 3.36 36

KS30-A-S-2-8 Side 2 8 5.06 54

KA30-A-T-1-4 Tenon 1 4 1.47 15

KA30-A-T-1-5 Tenon 1 5 1.70 17

KA30-A-T-1-6 Tenon 1 6 2.04 21

KA30-A-T-2-4 Tenon 2 4 2.29 22

KA30-A-T-2-5 Tenon 2 5 2.85 26

KA30-A-T-2-6 Tenon 2 6 3.68 36

EPA & WEIGHTEPA & WEIGHT

KPL20

10"

5 5/8"

1 3/4"

6 1/2"7 5/8" 7 3/8" 7 3/4"

KPL30

10"

5 5/8"

1 3/4"

6 1/2"7 5/8" 7 3/8" 7 3/4"

*See leveling device spec sheet  
for more options



CONFIGURATION OPTIONSCONFIGURATION OPTIONS

www.scgrp.com

KA30 DECORATIVE ARM

VIEW A-A

12" 9"

4"

30"

20"

6'

20"

31 1/2"

9"

6'

1 1/2"

KA30 ARM
ARM LENGTH:

2 3/8" O.D 

A

A

2 3/8" O.D 

REFERENCE POLE

RISE RUN 

16"4'

20"5'

20"6'

27 1/8"8'

DWG #: Q-2101061-1
DONE BY: MAK
DATE: 01/19/21
PAGE 1 0F 1

TENON DETAIL

WEIGHT (LBS)EPA (FT^2)

1.21

1.48

1.68

2.53

ARM

KA30-A-S-1-4

KA30-A-S-1-5

KA30-A-S-1-6

KA30-A-S-1-8

KA30-A-S-2-4

KA30-A-S-2-5

KA30-A-S-2-6

KA30-A-S-2-8

KA30-A-T-1-4

KA30-A-T-1-5

KA30-A-T-1-6

KA30-A-T-2-4

KA30-A-T-2-5

KA30-A-T-2-6

2.42

2.96

3.36

5.06

1.47

1.70

2.04

2.29

2.85

3.68

18

14

12

27

36

28

24

54

21

TO ACCEPT 2 3/8" O.D
x 2 3/4" LONG TENON

3/8"-16 HEX HEAD
BOLT x 3 3/4"L
C/W NUT & WASHERS

3/8"-16 PAN HEAD
SCREW x 1"L

3/8"-16 PAN HEAD
SCREW x 1"L

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

17

15

36

26

22

AVAILABLE IN 4', 5', 6' AND 8'* IN LENGTH
*8' LENGTH ONLY AVAILABLE IN SIDE MOUNT

SIDE NOTE: THESE EPA/WEIGHT VALUES ARE WITHOUT ANY LEVELLING DEVICE

REFERENCE POLE

30"

20"

6'

20"

31 1/2"

9"

6'

1 1/2"

Side Mount Single Arm

Tenon Mount Single Arm

Side Mount Double Arm

Tenon Mount Double Arm

VIEW A-A

12" 9"

4"

30"

20"

6'

20"

31 1/2"

9"

6'

1 1/2"

KA30 ARM
ARM LENGTH:

2 3/8" O.D 

A

A

2 3/8" O.D 

REFERENCE POLE

RISE RUN 

16"4'

20"5'

20"6'

27 1/8"8'

DWG #: Q-2101061-1
DONE BY: MAK
DATE: 01/19/21
PAGE 1 0F 1

TENON DETAIL

WEIGHT (LBS)EPA (FT^2)

1.21

1.48

1.68

2.53

ARM

KA30-A-S-1-4

KA30-A-S-1-5

KA30-A-S-1-6

KA30-A-S-1-8

KA30-A-S-2-4

KA30-A-S-2-5

KA30-A-S-2-6

KA30-A-S-2-8

KA30-A-T-1-4

KA30-A-T-1-5

KA30-A-T-1-6

KA30-A-T-2-4

KA30-A-T-2-5

KA30-A-T-2-6

2.42

2.96

3.36

5.06

1.47

1.70

2.04

2.29

2.85

3.68

18

14

12

27

36

28

24

54

21

TO ACCEPT 2 3/8" O.D
x 2 3/4" LONG TENON

3/8"-16 HEX HEAD
BOLT x 3 3/4"L
C/W NUT & WASHERS

3/8"-16 PAN HEAD
SCREW x 1"L

3/8"-16 PAN HEAD
SCREW x 1"L

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

17

15

36

26

22

AVAILABLE IN 4', 5', 6' AND 8'* IN LENGTH
*8' LENGTH ONLY AVAILABLE IN SIDE MOUNT

SIDE NOTE: THESE EPA/WEIGHT VALUES ARE WITHOUT ANY LEVELLING DEVICE

REFERENCE POLE

30"

20"

6'

20"

31 1/2"

9"

6'

1 1/2"

Mounting Details


